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@|ug - A / SECTION - A

a&{f1a Uy / Objective Type Questions
wvT wear 19 100 7% & wvy & @y aw Faey By wy & faad | v we@
3 fet 50 uv & gav s gwT g U WEl A% &t OMR Vi av fafgad
T 50 x1=250
Question Nos. 1 to 100 have four options, out of which only one is correct.

Answer any 50 questions. You have to mark your selected option on the

OMR-Sheet. 50x1=250
1 arsfer 3 ofd & INUR W Ieed gRa @) fradl srafue 8wt ® 2

(fi @ B) M

(€} 4R (D) Hra

Into how many periods has Marshall divided production time on
the basis of supply ?
(A)  Two (B)  Three
(C} Four (D} Seven
2 IR e T A 2
(A) M euweiH oM A (B) Srdfertefia ST H
() fa e aem A0 (D) T E IR A
Market price is found in
(A) Very short period market
(B} Long period market
(C) Very long period market
(D) None of these

3. afd 3w ° gfd gl

(A) qUTd: rEER (B) qUTa: SeliEeR
(C) wIER (D) ¥ § g T
In very short period, supply will be
(A)  perfectly elastic (B) perfectly inelastic
(C) elastic (D) none of these
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4.  ¥geA $i feufg o
A) P ) e T wd ST e A 3w Sl 8

(B) =R gff @ ot & SOe A B |
©) A8 w3k 7 Iy faafd @ =18 B

(D) ¥H ¥ ouft

In equilibrium situation

(A) The amount to be sold is equal to the amount tg
purchased

(B}  Market supply is equal to market demand

('} Neither the firm nor the consumer wants to be destabiligeq

L)
(D) All of these

5. @ &l higa 39 fag | Fuifa gl 2 F81
(A)  a& @i O e #@
(B) @ & qfd sifus &
(C) &&q & O 3 axq i Ofd srEn B
(D) 39 ° I3 &
Price of a good is determuned at a point where
(A) Demand ol the commodity 1s high
(B) Supplyof the commodity is high
(C)  Demand of the commodity and supply of the commodity are

equal

(D)  None of these

6. fFEdds-mswmadig?
(A) %9 =l "I IATEHI gRT T AT R
(B) M I 91 38H IAgHar W iy w2
(©) MP, =TP -TR, .
(D) ¥H | |4
Which of the following statements is correct ?
(A)  The demand for labour comes from producers
(B) Demand of labour depends on its productivity
(C) MP, =TF - TP{L_”
(D)  All of these
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7 swgan Ruila g O dom 0 dd Rk 3ga ad @
(A Hi ) d e > amgfd Y omen
1B)  uin =g gl 3t argail B Fdh & @i
(C)  iell JTeT) avd @
(D) 3 A @
Due to price ceiling, what situation arises in the market ?
(A}  Quantity demanded > Quantity supplied
(B) Demand will be larger and deficiency in goods will remain
(C) Black marketing is possible
(D All of these

8. mwwﬁ@mﬁ%m%m,ﬁ?—ﬁﬂﬁ‘{ﬁﬁ

HEWEF 8 ?
(A) AR=MC
(B) MR =MC

(C) MC 95 MR &% &I 9 & &1
(D)  (B) 3 (C) qF
For every market, which condition has to be fulfilled for firm’s
equilibrium ?
(A) AR =MC
(B) MR =MC
(C} MC curve intersects the MR curve from below
(D) Both (B) and (C)

9. uff § st % Prcifafga & #14 wwo & 2
(A)  Ieeq @ 4 g
(B) wuTNA Sl i hmal 7 9f&
() Jum # wHl i gEw § &
(D) %M 4 afi |
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Which of the tollowmng s the reason lor a decrease in supply ?
(A Inerease i production cost

(B1 Inerease in the prices of substitules

(1 Fall in number of firms in the industry

(1) All of these
Feafefiga ¥ @ fF-m wis 2 2

(A)  gmafy (B) «dd
) frafa (D) s o w1 A
Which of the following is a stock ?
(A)  Wealth (B) Saving
(C) Export (D) None of these
11, @ & Fefefa ¥ $19-91 ues @ 2
(A) ST (B wfaaia @y
() T & (D) 34 adi
Which one of the following is a component of profit ?
(A) Dividend (B}  Undistributed profit
(C}  Corporate profit tax 12 All of these
12, aeg-fafwr Soeh 6 frfafea § FR-d SR & o
(A) B wET 1 A9 (B) =% fawem o siaas
(C) H&WI ed HI9& &1 AWE (D) 398 @ ofi
Which one of the following is the difficulty of Barter system ?
(A)  Lack of double coincidence
(B)  Difficulty in division of the goods
(C)  Lack of general acceptable measure of valye
Mil of these
13, qﬁ%mwﬁmm%mhﬁnﬁﬁaﬁﬁﬁ%ﬁw@aﬁmmgp
(A) fafFma = gem (B) Toa =1 qgs
(C)  (A) 3 (B) A (D) Tw %1 =g
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Which one of the following is included in the primary function of
Aoney ?

(A) Medium of exchange  (B)  Measure of value
((*}  Both (A) and (B) : (D}  Store of value

(4. qg1 W & A afeife 2

(A)  gea Fukm &= (B) Hea afad &
() Tafg =1 "read (D) % | @i
The functions of money include

(A)  value determination (B}  store of value
(C) means of exchange ’ﬁf)‘]t‘ all of these

15, oy S % o wE & arwid efaied § e e e o g 2
(A) W % &9 H wH (B) Hm= I % FH
() gmrtas (D) THA o
Which of the following is the secondary function of commercial
banks ?

{ {E} Agency function (B) General utility function
(C)  Social function (D)  All of these

16, wEEas 86
A) AR g e g (B) UTgehi & T w=HR H 8
(C) wERRAFIIMNE - (D) (B) AR (C) M
Commercial banks
(A)  1ssue currency notes
(B) accept deposits from customers
(C) -provide lean to customers
Br” both (B) and (C)

17. aforfsash % ar@ gor Ldl 2
(A) B FHw o B) wfifeal @l =
(C) (A) 3 (B) A (D) T & =r§ Tt
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Commercial banks create credil by
(A\) advancing loans (13) ;;.-rur-::hu:-;ing seoeurities
{C)  both (A) and () (D)
18 Fefiifiga d s9-q1 7 9@ & ?
(A)  FE g% o9 H warE 9% @
(B) ia S W R 1 wifed B
©) e e qm F Afpm worelt w1 Frema Fft @
(D) 34§ i

Which of the following statements is true ?

nonce ol these

(A)  Central bank is the apex bank of the country
(B) The government has the ownership of central bank

(C)  Central bank regulates the entire banking system 1n the

country
A2y All of these

19. =g % g e @ 2

(A) &% F AR (B) W &R feham & wf@
(C) CRR% 9@ (D) 399 o |

Central bank controls credit through '

(A) bank rate (B) open market operations
(C) CRR ADy""all of these

20. difss Hife %1 w@ e 2
(A) SHHA @I AIRE  B)  faReh Rl w ) R
(C) T for (D)  H @ Wi
The major objective(s) of monetary policy is/are
(A) increase in output and employment
(B)  stability in foreign exchange rate
(C)  price stability
(D) all of these
25A/12/104
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o1 B b naun aiededaren O sy ud QeI ) gxgfaa st fefefaga O s

wifug ghm »
(A)  AD > AS (B) AS > AD
(C)  AD = AS (D) & 4 w8 e

In Keynesian viewpoint the equilibrium level of income and
cmployment in the economy will be established where
(A) AD > AS (B) AS > AD
(C) AD=AS (D) None of these
22. @4 fag fpas @y 921 83T 8 ?
(A)  wTEyEl 917 ygfa | (B) 39w w9 &
(C) «=a wafa g (D) ¥ ° |l
Kevnes theory is associated with
(A)  Effective propensity to demand
(B) Propensity to consume
(C) Propensity to save
(D}  All of these
23. ®1 Tk fagra Frafafen 5 s 9 areey wnfia & g 2
() Frew ot gog s % g (B) 3w ayn 3uWm % i
(C) «=d dyl Faw & &= (D) %9 & wig AL
Keynes multiplier theory establishes the relationship between
(A) Investment and total income
(B) Income and consumption
(C) Saving and investment
(D) None of these
24. Tk W) TEfafaa § fre g g0 = T o wemar § 2

A) K= %}3 B) K= %
(C) K=I-S (D) ¥ | B
Multiplier can be expressed through which of the following
formulae ?
B) K= %—f- B) K= %
(C) K=I1I-8 | (D) None of these
[25A/12/104
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i N = %

25, Ui "R [0 & sield Fefafaa d oo mive T s e
(\) Hol &) dinnd Hiayyendl 4 yfgda
(B) =g 1 g
(€C) Y HrEaTd
(D) s & asf
Which of the following is included in the qualitative method of
controlling credit ?
(A} Change in marginal requirement of loans
(B)  Credit rationing
(C) Direct action
(D)  All of these
26. =d "M w % wA 5 fau Fefafas § Sw-8 difts um o
Hehd & ?
(A) % T H %
(B) T 9K | wlayfeni £ alierd
(C) g HIY FUE ] HF HEI
(D) s 4 &h
Which of the following monetary measures may be adopted to
correct deficient demand ?
(A)  Reductionvin bank rate
{B] Buying securities in open market

Reducing cash reserve ratio

f{ All of these _
éﬁmmﬁ 3t A & U FHF-8 ToERdE IU™ 319 9 8 2
(A) FESHS S H wdd] B) & ¥ g
(C) @A Uil F Jig (D) & g g
Which fiscal measure is to be adopted in correcting inflationary
gap ?
(A) Reduction in public expenditure
(B) Tax increase
(C) Increase in public debts
(D)  All of these
[ 25A/12/104 Page 10 / 32
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8. W@ &1 fadiy ad 2
(A) 138§ 319 B) 1 v=gh & 31 femmEt
(€) 30dRMA | yamt (D) i A+ A
Financial year in India is
(A) April 1 to March 31
i8) January 1 to December 31
(C)  October 30 to September 1
(D) None of these
29, W9 % gues Fafafga g w8 2
(A) s wifeEl (B) w3 A
(C)  (A) 3R (B) THI (D) ¥ & wig T
Which of the following is a component of Budget ?
(A) Budget Receipts . (B) Budget Expenditure
(C) Both (A) and (B) (D) None ef these
30. weie wiftEl % Tues efafad § #4922
(A) TeRE wifwEt (B)  Ysfrra siew
(€) (A) 3T (B) QI (D) ¥ A FE A
Which of the following is a component of Budget Receipts ?
(A) Revenue Receipts (B) Capital Receipts
(C) Both (A) and (B) (D)  None of these
31. iy sl eadA il 8
(A) ol TSR (B) U Hd TR
(C) el T IR (D) ¥ & wfi
Macroeconomics studies
(A) Full employment (B) Aggregate price level
(C})  Gross National Product (D) All of these
32, gufe sedwme % awvla B d fraem sverem foean s @ 2
(A) TR 3 - (B) o US
(C) % IATE (D) ¥ | ot
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Which of the following is studied under macro€conomics ?

(A)  National income (B) Full employment
(C} Total production (D)  All of these
33, w9 vaR ¥ arid il § o wiva @ 2
(A) Sfa® YaE18 (B) g 918
© (&) 3K (B) (D) ¥ 8 H1E T
Which one of the following is included in circular flow ?
(A) Real flow (B) Monetary flow
(C) Both (A) and (B) (D) None of these
34. Wi% S <l Feffee f s o= @ 2
(A) W1 I qiRET (B)
€ TMemAWIEH A (D) T @f
Which one of the following is included in stock ?
(A) Quantity of money
(B) Wealth | |
(C) Quantity of wheat stored in-warehouse
(2} All of these ‘
35. arafy® AR ¥ il efifsa A e P g o
(A) TG H TE@TE (B) HuIAl HI yEE
(C) (A) 3R (B) QHI (D) T A R TE
Which of the following is included in real flow ?
(A)  Flow of goods (B) Flow of services
Both (A) and (B}) (D) None of these
36. RNATE? -
(A) GNP=GDP+f@m@e (B) NNP=GNP + fmmz
(C) NNP=GNP-f@@z (D) GNP = NNP- R
Which one is true ?
(A) GNP = GDP + Depreciation
(B) NNP = GNP + Depreciation
(C) NNP = GNP - Depreciation’
(D) GNP = NNP - Depreciation
25A/12/104 ‘
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37, vl OGSt &% 3P ) w91 Fed 2
(a) St Fwor (B) o4 &W
) Fem (D) T & @
What is consumption of fixed capital called ?
(A)  Capital formation *(IFBM] Depreciation
(C) Investment {fjf All of these
38, TiciRga ¥ o ®-91 vy 3@ & sy i g 2
(A) I TE "l H (B) Trm
(C) 3N wgmEa (D) w9 8 i
Which of the following affects national income ?
(A) Goods and services tax (B) Corporation tax
fbl Subsidies (D)  All of these
39, fgdos &3 o Feafefaa o - @1 gfoifas 2 2
(A) & (B) fafamfo
(C) SR | (D) dfeT
Which one of the following services is included in secondary
sector ?
(A) Insurance __IBF”™ Manufacturing
(C) Trade (D) I_E’»anking
40. wiutys & 3§ Peafaiaa § 59 wivs e s 2 2
Ay B)
() @ (D) ¥ @ wfl
Which one is included in primary sector ?
(A) Land (B) Forest
ining (D) Al of these
41. =fy srdwre o aftnfem e 2 | _
A) SR TS (B) “Bre-wie =
() =fwmE qea faRu (D) = H & ;fh-
[ 2547127104 -
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Microceotnionnes includes
(A) mdividual unit
(£3) simall varuables

individual price determination

(C)
il all of these
42 wufy sl arvmya St 8
(A) 9% sma Pufo (B) @A sha fui
(C) e weam (D) 3 | a4l

Microeconomics studies

(A}  Product price determination
(B)  Factor price determination
(C) Economic welfare

D). All of these
43, HYYTE & AT HH Y ?

(A) 9. &t ¥ (B) HwUd

(C) uew feiy (D) < T

Who was the father of Economics ?

(Al J. B. Say (B) Malthus
(€ Adam Smith (D) Joan Robinson

44, A d @ HE-wHYA TF 2 ?
(A) T h MEEHRAN FA BN B
(B) &y diftd gy ¥
(C)  Tovel ! Ju = 1 9 ot 2
(D) & ¥ a+f
Which of the following statements is true ?
(A)  Human wants are infinite

(B) Resources are limited

(C}  Scarcity problem gives birth to choice

M of these
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sflas wue yota faa dva o) a8 dafuad 8

AL e ) (13)  3qulehl 944
TSRS EEUEREN (D) gl 1 g adl

"o which factor, is economic problem basically related to 7
(A Choice () Consumer’s selection

) Firm selection (D) Nonc of these
B A Q Reg srforaen A Rl O @ gt &El &1 HE- st

g1l B ?

A} e (B) HHSEN)
1 fibe D) A

Which economy has a co-existence of private and public sectors ?

(A]  Capitalist (B)  Socialist

(C)  Mixed (D)  None of these
7 g 6 fe § Se-w R R 0

(A)  ITATET G SRS e |

B) I afewe Bl @

(C)  IUHIfTET U HIYE FAUNIN 8

(D) 394 | a4l

Which of the following is a characteristic of utility ?

(A)  Utility is a psychological phenomenon

(B)  Utility 1s subjective

(C}  Utility is a relative concept

_Abr"All of these

4. IdTR] SHIRT 1 FqgA TR STan @

() gz AdeE o (B) & edwie o
() =y fagra A (D) &8 & &3 a8
Consumer’s behaviour is studied in
__{A}——Microeconomics (B) Macroeconomics
(C) Income theory (D) Nonéof these
25A/12/104 )
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39 wu-dini-< uaMar Rag b faur & yei gfadideh HA Y ?

(A) umEe (B) T
) forel D) foe
Who basically propounded the concept of Law of Equimarginal
utility ? |
(A) Marshall ﬁf]ﬁ;] (Gossen
(C) Ricardo D) Mill
50. forelt axq A arEha sravasa 1 GwE FW A T B
(A)  3WHT (B) 39l
(C) T | (D) ®f
The capacity of a commodity to satisfy human wants is
(A) Consumption By Utility
(C)  Quality (D) Taste
51. 4z whifd #I fafa 6 & fag &% «
(A)  werh s 2 (B) ~ HeT$ STl B
() o wd ot 2 (D) v H SR R
For controlling inflation, bank rate is
7l increased (B) decreased
| C)  kept constant (D)  1s made zero
52. fod d% 1w sfvgar & yenem wef 2 2
(a) 78 g (B) g
(C)  =hiciehral (D) =%
Where is the headquarters of RBI ?
M New Delhi (B) Mumbai
; (C) Kolkata (D) Chennai
53, awd 14 43 Fgfen smamtie i @ udE R
(A) 19491 (B) 1955 %
(C) 19694 (D) 2000 3
14 big scheduled commercial banks in India were nauonahsed in
(A) 1949 (B) 1955
S (D) 2000

| 25A/12/104
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54. HidEn wfifa 1 yfode Prafafue 8 A frad qur | wefam 2 0
(A) U H YR (B) wymafis guwr
()  dfen guw (D)  =aTRE §UR
Narasimham Committee Report is related to reform of which of the
following ?
(A)  Taxation reform (B) Administrative reform
(€} Banking reform (D)  Trade reform
55. 15 318, 1980 1 el foraa dHi w1 U frar T 2
{A) 20 (B) 6
C) 8 (D) 10
How many banks were nationalised on April 15, 1980 ?
(A) 20 _Be
C) 8 (D) 10
56. “qfd W wm # g w21 Fefefee § feen ww fam sl
feran 2
a) S.#.83 (B) d. ™. fua A
(C) wHwd D) feprel 3
“Supply creates its own demand.” Who propounded this law ?
'J. B. Say (B). J.S. Mill
-[EEJ Keynes (D) Ricardo
57.  wureye g felk et @
(A) EHT UM W (B) 49U qd W
(©) (A) 3 (B) A (D) - ¥ | HIE
Effective demand is dependent on
(A) Aggregate demand (B) Aggregate supply
(C) Both (A) and (B) (D) None of these
'25A/12/104
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58. ¥fe MpC 0-2 8 g8 MPpS &fl
(A) 08 (B) 02
(C) 04 (D) -02
If MPC is 02, then MPS will be
(A) 08 (B) 02
(C) 04 D) -02
59. + 3ffwd w9 w9 (APC) T W Bt 2
(A) i% B) S+cC
© £ o) =
Average propensity to consume is equal to
(A) %‘% B) S+
9 £ | o) £
60. i foamum % =i & Hger w1 Tyl Prefafaa T o9 2 -
(A)  =mfe® i (B)  wmifees yfd
(C) (a) 3R (B) gFl (D) %W A % =
Which one of the following is the determining factor of equilibrium
income in Keynesian viewpoint ?
(A)  Aggregate demand (B)  Aggregate supply
(C} Both (A) and (B) (D)  None of these
61. A H HH-71 7 Fifga 2 amawrs 2 o
(A) ST i gea B) & fifRvwa gy
C) WH=WFA RN T@E@ (D) 0 Q qoff
Which element is essential for demand ?
(A)  Desire to consume
(B) Given price
(C)  Willingness to spend factor
All of these
25A/12/104
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62. 1Y ST ) a3l & e F aft @3 A win § gfy 78 A 2
(A)  AHER Fgd (B)  HHGIY i
() Fenfaar aegd (D) g & 13 4
In which type of goods, price fall does not make any increase in
demand ?
(A Necessary goods (B} Comfort goods
(C)  Luxurious goods (D)  None of these
03. WM SEg3 & fon uin @ fiaw g ) Fug w9 B o F =
.......... SIh AT 8| |
(A) Y gy ) (B)  €ATcAS Gy W
(C) Teaglfia gy =) (D) T8 ¥+ T
For normal goods, Law of Demand states the ............ relationship
between price of goods and quahtity of goods.
(A)  Direct (B)  Positive
(C} Inverse (D)  Nene of these
64. ' TETYH IR H IR B
(A) = IR (B) S W& U
(C) o™ Td (D) =M W& S
The examples of substitute goods are
(A) Tea and sugar (B) Shoes and socks
(C) Pen and ink ARy "Tea and coffee
65. fiftea segat & foe uin < Fra g & 2
(A)  SRUTIeHh (B)  ATHS
C) H (D) T F R
Price elasticity of demand for Giffen goods is
(A)  Negative (B)  Positive
(C) Zero (D) None of these
66. i & @ B IWIRT A I geH 2
(A) @ TP (B) W &
(C) #A™ & (D) ¥4 @ &t
[25A/12/104
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The factor affecting elasticity of demand is

{A)  Nature of goods (B) Price level

(C) Income level (D)  All of these

67. af} feeh a5g & qea A 40% wiads & Hro A1 # 60% i & A A
1 wira grfi
(A} 05 (B) -15
(C) 1 (D} O

‘If the demand for a good changes by 60% due to 40% change in

price, the elasticity of demand will be

(A) 05 B) -15
€ 1 . D) o
68. HAWBIAN IUlGd Hor ol ogreyn Pefafga & fea Fam & ga
STt B P
(A) =M F fam (B) WRedAsle Jua & fram

() A % wfawa Faw (D) AP hl A=
Which of the following laws explains the short-run production
function ?
(A) Law of demand (B) Law of variable proportion
(C) Law of returns to scale (D) Elasticity of demand
69. ITCIHICHH IcTeA <l qon # T Tl e ey areen § e s

qg< HEN ? |
(A) WU ATEM (B) feeftg g .
(C) e A=y (D) T &+ 7

In which stage of production a rational producer likes to operate in'

the condition short-run production ? i

(A)  First stage (B)  Second stage
(C}  Third stage (D) None of these
70.  eqehTe( 3T Wikl # Foferfen § @ wR-3 s e § o
(A) fer arE (B) ufadasier amem
(C)  (A) 3N (B) B (D) 3% A I T
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Which factors among the following we find in short-run production
process ?

(A} Fixed factors (B)  Variable factors

(C) Both (A) and (B) (D)  None of these
71.  WH F @ e @ we
(A AR>AC (B) AC > AR

(C) AR =AC (D) T & B A

Firm gets profit when

(A} AR > AC (B} AC > AR

(C) AR=AC (D) None of these
72.  qfd fr=fafyn O fred g A 2 p

(A) Treht 5mg i 3Ef (B) Hma

(C)  (A) 3 (B) i (D) ¥ &+ T

Supply is associated with which of the following ?

(A} A time period (B}  Price

(C) Both (A) and (B) (D) None of these
73, qfd & Fraw = faafafea § S-a1 see veiifa s @ 2

&) S=£(P) B s-f(5)

(C) S=r(0Q) (D) ¥ A HE T

Which of the following functions shows the Law of Supply ?

(A)  S=f(P) B s-7(})

EC] S= f(Q) (D) None of these
74. qff e A my Feafafea & e g3 @ 9@ F I @ 2

AQ, 5
(A) _Z‘?_; B *F
P

(C) ﬂ%s x AP (D) %f X 52,3
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The measurement of the elasticity of supply is made known as

x R

AQ,
L ® %
P
©  zg-xaP (D) %x 3‘55
75. 3@l % g fog & e aelt gff @ it &= ddt 2 ]
(A) $HIE A HH (B) THE A AH
(C) T & FUK (D) YA % T
The elasticity of a straight line supply curve originating from the
origin of the axes is
(A) Less than unity (B) Greater than unity
"(C} Equal to unity (D) Equal to zero \
76. o W ¥AM T W T aeg i Hma §5% $ gfg 30 A 3w ag A
qfif &Y 7T 6% ag AT 2 a9 a5 I g i FEa A= F FE TR 2
(A) 30 (B) 0-83
Cc 12 (D) 2
Under ceteris paribus if the quantity supplied of a good increases
by 6% due to an increase in its price by 5% then what will be the:
value of price elasticity of supply of the good ?
(A) 30 (B) 083
© 12 (D) 2
77. R fRufy Rl awg 1 Fae & a1 gl 8, 98 2
(A} THITUSR (B) HREH
(C) wAIEFR (D) ¥ & F 7
Market situation where there is only one buyer is
(A) Monopoly ,(B‘)/ Monopsony
(C) Duopoly (D} None of these
25A/12/104
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31.

ha AR H gt e g s 2 o

(A W1 ufaifia (B)  gof wferifiran

(C)  UHIIHR (D) ushtfaerd wferifian
In which market is product differentiation found ?

(A} Pure competition (B)  Perfect competition
(C)  Monopoly [} Monopolistic competition
ekt sfiaifrn 61 wmom ) fon 2

(A)  Te=sm 5 B)  Ararfer 3

(C) et Tifa=ga 3 (D)  HEyend 3

The concept of monopolistic competition is given by

(A) Hicks (B]  Chamberlin

(C))  Mrs. Robinson (D)  Samuelson
TR H1 AT Tk HHT ST 8 2

(A)  SETeR (B) . SRR

(C) yulda «rer (D) yiaar aeeer

What is the type of demand curve of monopoly ?

(A) [nelastic (B)  Elastic

(C) Perfectly elastic (D)  Perfectly inelastic
frers Tores =1 Enm afe MPC = 0-2 8 2

(A) 200 (B) 5

(0 @ (D) 125
*What will be the investment multiplier if MPC 1s 0°2 ?
(A) 200 B) 9

(C) ?) (1) 1"25

faestt fafma w7 &1 faro &mr 8
(a)  faesft s 6 9m g
B)  faeeh =i &1 gfd gr
) faeeft fafamg aram | wit wd qfd gr
(D) g4d T I3 78]
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Forevm exchange rate is determined by
(A} Demand of foreign currency
(B)  Supply of foreign currency
‘C}  Demand and supply irl'l foreign exchange market

(D) None of these https://www.bsebstudy.com/

83. facuht fafmg ot w1 fufor & wv 2 7

‘(A) R (B)  Hiel-dled grl

() favg &= (D) @i ud yfd skl g

Who determines the foreign exchange rate ?

(A)  Government (B) Bargaining

(C) World Bank (¥ Demand and supply forces
84. oA I8 WISl % WG Iilmsiw 29 d o

(A) Ter fafma e (B)  37iyshifera fafimg et

(C) (A} 3R (B) < (D) ¥ & F1§ TE

During Breton Woods system most countries had

(A)  Fixed Exchange Rate (B) Pegged Exchange Rate

(C) Both (A) and (B) (D)  None of these
85. WA H4eH % 3159 Ul & = Hefafgs § fr afvhm fa

STl P

(A} dfem (B)  FETAC

(C) g= (D) T | T

Which one of the following is included in the invisible items ol

balance of payment ?

(A Janking (B)  Shipping

(C) Cormmunication (D)  All of these
86 4l @M & <A FEfatea 1 R mie o s d

(A) "I I B) el

(C) faesfi gyt fafrim (D) 3 & @ft
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88.

89.
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Which one of the following is included in the item of Capital

Account ?

(A) Government transaction
(B} Private transaction

(C)  Foreign Direct Investment
(D)  All of these

Preaforfa & & #i 4ot @ § 7 o 2
(A) HEH ER (B) wwim faw
(C) wwhueha a=mw (D) &8 A =13 78

Which of the following does not come in Capital Account ?
(A) Government transaction

(B) Direct investment

(C)  Unilateral transfer

(D)  None'of these

FAEHI IR WY w1 A @

(A). EWTSd GDP - 9Fads GDP
(B) @wifad GDP + Sidfas GDP
(C) (A) 3 (B) gl

(D) T @ I @

The formula for deflationary gap is

.(A) Potential GDP ~ Actual GDP

(B) Potential GDP + Actual GDP
(C) Both (A) and (B)
(D}  None of these

et an 3999 8F & feafafaa § s-w SR 8 ?
(A) dEas =g 1 9fg (B) gz 6t gfid ¥ Ifg
() WU ° F (D) 3 & i
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Which of the following is a reason of appearing surplus demang
(A)  Increase in public expenditure

(B}  Increase in money supply

(C)  Fall in taxes

(D) All of these

90. U IR & 3wl A &yfess wim qun qof Asmm ) F@fEs WM F 3w

= FAT B
(A) TR e (B) aehifds JA=I
(C) (A) 3R (B) aHI (D) 98 A F3 Ta

The difference between aggregate demand at above full employm

and aggregate demand at full employment expresses

(A}  Inflationary gap (B) Deflationary gap
(C) Both (A) and (B) (D)  None of these
91. ITEA F1 YT T 8 ?
(A) (B) =W
(€ g (D) T & Wi
What is/are the factor(s) of production ?
(A) Land (B) Labour
(C) Capital ,{-E}T/All of these
92. Iaued # gig ¥ WH-WU F AP 6 F RR A0 H 7AW
(A) for wm 2 (B) Wedl STl 7
(C) Al w2 (D) =d-aEal &l @

With the increase in production the difference between total

and total fixed cost

(A) remains constant (B) increases
(C) decreases (D) both increases and decrea
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(A) R @ (B) wiadaefer @1
(€} (A) 3R (B) gHi - (D) ol A HE A
Which of the following factors are there in short-run production
process ?
(A)  Fixed factors (B) Variable factors
(C)  Both (A) and (B) (D} None of these

94. I AV w1 IRy am B
(A) 3 @ (B) e Ted
(C) dHiwra @ (D) 3itga @rE
The alternative name of opportunity cost is
(A) Economic cost (B) Equilibrium price
(C) Marginal cost (D) Average cost

| 95. TFC+TVC=?

(A) T ST (B)  3HHa @
(C) = wrE (D) ¥ & HI3 T
TFC + TVC = ?

f[.A’j// Total cost (B) Average cost
(C) Marginal cost (D) None of these

96. ﬁwamﬁzﬁmm(mmr{ﬁmwiﬁm%?

(A) USSR (B) Tt gt

C)  (A) 3K (B) qF - (D) o s

In which market may Marginal Revenue become zero or negative ?
(A) Monopoly (B) Monopolistic competition

(C) Both (A) and (B) (D}  Perfect competition

07 Ffafaa § 4 s-m vEiyen g uwiusd wiEfim A % foe we

BT ?
(A) P>MR
() P-=MC

(B P=MR
(D) P=AC
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Which of the following will be truc for both Monopoly ap,
Monopolistic competition ?
(A)  P>MR (B) P=MR
(C) P=MC (D) P=AC
98.  3fHd 3w fRgd uE B?

(A)  F1 HTE FH FA I | W FE

(B) w4
(C) (A) 3R (B) I
(D) & A HE T

Average Revenue equals to

(A)  Total revenue divided by the quantity produced
(B)  Price

(C) Both (A) and (B)

(D) None of these

99. wd % Gqe H1 FETEH U B

(A) MR = MC (B) MR > MC
(C) MR < MC (D) MR=MC=0
The necessary condition for a firm’s equilibrium is
ilb MR = MC (B) MR>MC

©) MR<MC (D) MR=MC=0

100. T ¢4 =7
(A) TR-TC B) MR+ MC
(C) (A) 3R (B) T (D) ¥ 9 HR T

Net profit = ?

_(AyTR-TC (B) MR+MC

(C) Both (A) and (B) (D) None of these
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EUg - & / SECTION - B
g WW / Short Answer Type Questions
Ty W= 18 30 & ey Iadig &1 379 & fa=t 15 vt & 3¢ &1 0%

gy & [0 2 aF Freffer 3 15x2 =30
Question Nos. 1 to 30 are Short Answer Type. Answer any 15 questions.
Each question carries 2 marks. 15 x2 =30

1. AdegEen & fgdfigs &3 H ofomm dfm)

Define secondary sector of the economy.

2.  HERO 9T 3TTE | Y HT gHIA @ ?

What do you mean by Gross Domestic Product ?
3. UM g UF Yo a3t % @-<l Igre it

Give two examples each for Consumption goods and Capital goods.
4. E ¥ Q) s ARy

Mention two contingent furictions of money.

5. I SWIST | Fa1 AW g ?

What do you mean by Demand deposits ?°
6.  durfie ateran A (SLR) &1 8 ?

What is Statutory Liquidity Ratio (SLR) ?
7. gEl Tiaven wfufd % Tied g3 ?

When the second Narasimham Committee was appointed ?
8. @fes om & F=0 AmE R 2

What is meant by aggregate demand ?
9. '} I &NR W ®R?

What is Say’s law of market ?
10. @R wmd & 1 HAWE B ?

What is meant by Fixed cost ?
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J

A

. ey aﬂlmammﬂm%ﬁaaﬁ#ﬂmﬁﬁm

5 inal Reve
Explain the relation between Total Revenuc and Margin tnue
12 3gsh & G & = dr9d 8 ?

What is meant by producer’s equilibrium ?

13. [ quies o= B ?
What is Investment Multipher ?
14, dt o =37 a9y 8 ?
What is meant by recession ?
15. U fifg w1 a2f 8 2
What is meant by Fiscal policy ?
16, a9 B<qed &1 el qargu|
Define market equilibrium.
17. foret o 1 Sima Fiafor 3§ 9 geepl wfwat s@-4 8 2
What are the two forces in determining the price of the goods ?
18, w8 ! gfenfyd &)
Define flow.
1.~ 9 & Fa1 31f 2 »
| What 1s meant by demand ?

20. W &I &9 TS &4 aldl 8 ?

When the elasticity of demand is unitary ?
21, 3G B B w1 e g ?

What is meant by production function ?
22. | F9i¢ ! giaT ¢
- Define Government Budget.
23, fyeuht fafhme <t amgfd & < ¥ seR

State two sources of supply of foreign exchange,
24, SR wger § @F-d 7 e B 9w E o

Which items are included in balance of trade ?
[25A/12/104 | ~Page 30/ 32
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30.

— . &R
AT ‘{ﬂ—i B2

What is Market Supply ?
e T A o - )
U # Fra & 9r fules oo Siicid
Mention the four determinants of elasticity of supply.
U1 ST <6 gfnmy 3
Define perfect competition.
Al T o1 2 2
What is economic activity ?
fafara snfefss womeft & amy w1 wazy § 2
What do you mean by Mixed Economic System ?
I9gifar &1 aftamsr ifmg
Define Utility.

& 3909 U9 / Long Answer Type Questions

Uy WEGT 31 9 38 9" IWUE T T W | el 4 uvl & I %) U
wy & foe 5 3w faifea € 4x5=20

Question Nos. 31 to 38 are Long Answer Type questions. Answer any

4 questions. Each question carries 5 marks.

31.

32.

33.

34,

4x5=20
=y arefome & Eggd & WEe @1 TP i

Explain the importance of the study of Microeconomics.

i =1 FBam auzrge) 38 Paa e g g ?

Explain the Law of Demand. What are 1ts assumptions ?

qfd 1 ufearn difqwr 37 FRol w1 g Al S R s O @
fruffa w 21

Define supply. Mention the causes which determine the supply of a

commodity. +
TR 1 2 ? §Eh] YE fasivad «n € ?

What is Monopoly ? What are its main {eatures ?
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36.

37.

auty ardvre | F1 sifuumg R 0 a8 %1 avis Hifo

What i1s meant by Macroeconomics ? Discuss its SCOpC.

YT 3 & "' &l we hif

Explain the importance of National Income.
q51 & P 1 ®H-9 8 7

What arc the main functions of money ?

Hord da $ gftarar € 3 3k w1l I saren &l

Define central bank and explain its functions.

faETe SiE'a o1e 3z qera sifftsfaae
A qUe, ATss QUE, 3ide-dhl,
UT&shal, Silcd, Al e, de-31T 31T
A udtelt vsst U= 3nfe & fAT...
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